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REIT Financial Modeling 
– Certification Quiz Questions 

Module 1 – REIT Overview and Short Case Studies/Modeling Tests 
 

1. You are comparing Equity REITs (Real Estate Investment Trusts) to real estate private 

equity (REPE) funds. Which of the following statements correctly describe(s) the 

similarities and differences between these entities? 

a. REPE funds buy, sell, and develop properties constantly, while REITs focus on 

operating existing properties rather than buying, selling, and developing. 

 

b. REITs are required to distribute a high percentage of their Net Income in the form of 

Dividends; REPE funds face no such requirement. 

 

c. For REITs, high percentages of Revenue and Assets must be real estate-related; REPE 

funds face no such requirements. 

 

d. Both REITs and REPE funds tend to pay no corporate taxes or minimal corporate 

taxes – because REPE funds are structured as limited partnerships, and REITs get 

special tax treatment if they comply with their Dividend, Revenue, Asset, and other 

requirements. 

 

e. Both REITs and REPE funds tend to raise Debt and Equity constantly to fund their 

business operations. 

 

f. REITs record large Depreciation charges on their financial statements but no Fair 

Value Gains or Losses, while REPE funds do the opposite. 

 

g. All the statements above are correct. 

 

h. Only statements A, B, C, and D are correct. 

 

i. Only statements B, C, and D are correct. 

 

j. Only statements B, C, D, and E are correct. 
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k. Only statements B, C, and E are correct. 

 

l. Only statements A, B, C, E, and F are correct. 

 

2. You are reviewing a 3-statement projection model for a U.S.-based Equity REIT in the 

hotel sector. The REIT’s Cash Flow Statement Drivers, including its FFO, Dividends, and 

Debt and Equity issuances are shown below: 
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Based on this screenshot, which of the following statements represents VALID criticism of 

this model? 

a. It seems that the model assumes 50/50 Debt/Equity funding, even for scheduled 

Debt maturities, which means the REIT may be raising higher-cost funding and 

straying from its targeted capital structure. 

 

b. The projected Gains and Losses shown here are almost certainly too low, which may 

be distorting the REIT’s FFO and Dividends. 

 

c. The REIT’s EBITDA Margins decline over time, even though NOI appears to be 

growing in-line with GDP or the inflation rate. 

 

d. The REIT’s Share Count increases each year, even though there is no way to project 

the REIT’s future share price – it would be better to hold the Share Count constant. 

 

e. All of the above. 

 

3. You have built a Net Asset Value (NAV) Model for the same company to value this REIT 

based on its forward NOI and a range of Cap Rates. The basic model is shown below: 
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Based on this screenshot, which of the following statements represents something 

INCORRECT or a potential problem with this model? 

a. It’s unusual to adjust the market value of Construction-in-Progress *down* from its 

book value; usually, the construction is expected to be worth more upon 

completion. 

 

b. Goodwill & Other Intangibles should be worth $0, not some positive number, 

because they have no fair market value. 

 

c. Ideally, the model should use a *range* of Cap Rates or NOI by segment to 

determine a plausible valuation range for the company (these can also be in 

separate sensitivity table). 

 

d. It’s unusual *not* to adjust the fair market value of the Debt – if interest rates have 

changed since the Debt was originally issued, its FMV is likely different now. 

 

e. All of the above. 
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4. You are valuing a European REIT. You get the following results from a set of Public Comps, 

which are based on European Office, Industrial, and Retail REITs with Fair Value of 

Investment Properties Between €3 and €15 Billion: 

 

The company you are valuing (“Colonial”) is growing its EBITDA at 4-5% vs. a median of 1-

2% for the comparable companies. It is also a bit larger than the average comparable in 

terms of Enterprise Value, Total Assets, Fair Value of Investment Properties, and EBITDA, 

and it is slightly more leveraged (45% vs. 38%). What can you conclude, based on this 

information and the screenshot above? 

a. The P / BV multiple is meaningless because REITs have high Accumulated 

Depreciation balances, which depress their Book Values. 

 

b. Most likely, Colonial is appropriately valued right now since its multiples are higher 

than the median multiples of the set, but its growth rates and financial metrics are 

also higher. 

 

c. You cannot say much because EV / EBITDA and EBITDA are not appropriate metrics 

for IFRS-based REITs due to the recognition of Fair Value Gains and Losses on the 

Income Statement. 
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d. Colonial is likely to be overvalued currently because its growth rate is over 2x the 

median growth rate of the set, but its multiples are only 25-50% higher. 

 

e. You cannot say much because this set of Public Comps is too broad – you should 

select only one sector, such as Office or Retail, and you should limit the set to 1-2 

European countries rather than the entire continent. 


